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—( Rewriting One-Step Inequalities >—

Rewrite each sentence as an inequality in algebraic form.

examples:
20 multiplied by y is greater than or equal to 40. 20y = 40
The sum of 92 and z is less than 100. 9?0 +z< 100

1. The difference when you subfract
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4. 120 divided by his 12 orless.

5. 500 minus ris 300 or less.

6. The product of 3 and x is 50 or more.

7. fminus 8isless than 2.

8. yover50is4ormore.
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ANSWER KEY

—( Rewriting One-Step Inequalities >—

Rewrite each sentence as an inequality in algebraic form.

examples:
20 multiplied by y is greater than or equal to 40. 20y = 40
The sum of 92 and z is less than 100. ?0+2z< 100

1. The difference when you subtract

Preview

Please log in fo download
the printable version of this worksheet.

Uuls 4 ol more.
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